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QUESTION 1

Which two RSVP messages are used to establish a new LSP? (Choose two.)

A. path

B. pathconfirm

C. Resv

D. ResvConfirm

Correct Answer: AC

RSVP path messages are sent downstream from the ingress router to the egress router. RSVP Resv messages are

then sent upstream from the egress router to the ingress router. The path messages contain information about
resources needed, and the Resv messages reserve these resources.

QUESTION 2

You have multiple Layer 2 interfaces associated with different VLANs configured on an MX Series router. You have
been asked to ensure Layer 3 reachability through the MX Series router for the subnets associated with the different
VLANS.

How would you meet this objective?

A. Use gateway IRB interfaces to forward traffic between VLANS.

B. Use the BPDU protect feature to direct traffic between VLANS.

C. Use a Layer 2 routing policy to forward traffic between VLANS.

D. Use filter-based forwarding to direct traffic between VLANS.

Correct Answer: A

QUESTION 3

Which two formats are valid route distinguisher formats? (Choose two.)
A.:

B.:

C.:

D.:

Correct Answer: BD
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QUESTION 4

Click the Exhibit.

[edit routing-options static]
user@router# show
route 0.0.0/0 next-hop 10.0.1.1;
route 192.168.5.0/24{
next-hop 172.16.1.2;
resolve;

}

Referring to the configuration in the exhibit, which statement is true?

A. The next-hop 172.16.1.2 must be directly connected to the router for route 192.168.5.0/24 to be active.

B. The next-hop 172.16.1.2 must be part of an active route in route table inet.0 for route 192.168.5.0/24 to be active.
C. The next-hop 172.16.1.2 must respond to ping commands for the route 192.168.5.0/24 to be active.

D. The next-hop 172.16.1.2 must be active in route table inet.3 for the route 192.168.5.0/24 to be active.

Correct Answer: B

QUESTION 5

Which two fields of a hello packet must match on both routers when forming an OSPF adjacency? (Choose two.)
A. Hello interval

B. Designated route

C. Router priority

D. Network mask

Correct Answer: BD
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